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OBJECTIVE PART(MCQs)

Question No.1: The polluted water discharged by the factories and
industrial plants is harmful to:

(@) marine ships (b) marine diversity

(c) land transportation (d) energy production

Question No.3: A consequence of the melting of glaciers and early
melting of ice is:

(a) increasing wildfires (b) decreasing rainfall

(c) rising sea level (d) shortage of water

Question No.5: New York City receives rainfall:

(a) least in April and the most in

February (b) least in both February and April

inF h
.(C) lea§t in February and the most (d) both in both February and April
in April
Question No.7 : The gas that is the main cause of global warming

IS:

(a) CO2 (b) CH4

(c)N20 (d) 03

Question No.9 : Major export of Pakistan is:

(a) IT products (b) Sports goods
(c) edible oil (d) crude oil

Question No.11:
and exportsiis:

(a) UNO
(c) WTO

The global organization associated with imports

(b) TDAP
(d) UNESCO

Question No.13: The deepest Sea Port of Pakistan is:
(b) Gawadar Port

(d) Keti Bandar Port

(a) Port Qasim

(c) Keamari Port

Question No.15:
developmentis:

The most important thing for human

(a) Education (b) Health
(d) Jobs

The number of British soldiers in battle of Plassey

(c) Vehicles

Question No.17:

was:
(a) 50000 (b) 32000
(c) 42000 (d) 66000

Question No.19: The salaries of Indian soldiers were very low
because of:

(b) British considered them

limited fund
(@) limited funds inefficient

(c) discourage Indian participation

) (d) invest more in infrastructure
in wars

Question No.21: Turkey joins World War | in:

(a) November, 1914 (b) October, 1914

(c) December, 1914 (d) September, 1914

Question No.2: The tidal currents that produce high waves in the
ocean are caused by combined gravitational force of the:

(a) Earth and the Moon (b) Sun and the Moon
(d) Sun and the Earth

Question No.4: Anincrease in wildfires leads to:

(c) Earth and sea level

(a) greenhouse gas emissions (b) air quality deterioration
(c) Increase in rainfall (d) promote sustainable energy
Question No.6: A simple way to reduce light pollution is by using:
(a) unnecessary lights (b) only necessary lights

(c) more brighter lights (d) only LED lights

Question No.8 : The city famous for sports industry is:
(b) Rawalpindi
(d) Sialkot

(a) Lahore
(c) Faisalabad

Question No.10: Industry that plays a major role in poverty

alleviation is:
(a) auto mobile (b) cottage industry

(c) cotton and textile industry (d) agriculture industry

Question No.12: Pakistan is succeeding in better establishing
media style, marketing and distance education through

developement of:
(a) software technology (b) industry
(d) trade

Question No.14: The most commonly used eco-friendly means of
transport for short trips to cities is:

(c) tourism industry

(a) Airplanes (b) Electric Scooters
(d) Ships
Question No.16 : Itis the reason of current economic condition of

Pakistan is:

(c) Trains

(a) political unrest (b) increase in national income

(c) education (d) increase in trade

Question No.18 : The purpose of British to establish East India
Company was:

(a) education
(c) trade

(b) politics
(d) cultural exchange

Question No.20 : Islamia College, Peshawar was established on the

pattern of:
(a) British public school model (b) Traditional Madrasah system

(c) Aligarh College model (d) Modern University system

Question No.22: The League of Nations was founded in:
(a) 1910 (b) 1920
(c) 1930 (d) 1940




Question No.23: Cripps Mission gave suggestions for reforms:
(a) Educational (b) Religious
(c) Social (d) Constitutional

Question No.25: A key outcome of the Lucknow Pact for the Indian
independence movement:

(b) Cooperation between Hindus
and Muslims.

(d) Ended Indian National
Congress

(a) independence from British rule

(c) Formation of Communist Party

Question No.27 : Pakistan resolution was passed on:
(a) 1942 (b) 1940
(c) 1938 (d) 1941

Question No.29 : To reorganize the Muslim League, Quaid-e-Azam
reunited the:

(a) representatives of Muslim

(b) factions of Muslim League
League

(c) leaders of Muslim League (d) ministers of Musliim League

Question No.31: The second constitution of Pakistan came into
effectin:

(a) 1962
(c) 1956

(b) 1973
(d) 1957

Question No.24 : Muslim league was established due to:
(a) Simla Deputation (b) Partition of Bengal
(c) Political unrest ness (d) Behavior of Congress

Question No.26 : The impact of Allama Muhammad Igbal Allahabad

address on the Pakistan Movement was:
(a) Creation of Pakistan (b) Decline in Muslim leadership

. - (d) Cooperation with Hindu
(c) Strengthening of British rule
leaders

Question No.28 : Quaid-e-Azam Muhammad Ali Jinnah's 14 Points,

regarding the provinces, demanded the:
(a) creation of new provinces (b) provincial autonomy
(c) integration of small provinces  (d) British control over provinces
Question No.30: Objective Resolution was passed in:

(a) 1947 (b) 1949

(c) 1951 (d) 1961

Question No.32: In the 1971 war, the Mukti Bahini led by:
(b) Jyoti Basu
(d) Jawaharlal Nehru

(a) Mujibur Rahman
(c) Indira Gandhi

SUBJECTIVE PART(CRQs)

Question No: 33
a ) Define Global Warming. (Marks 05)

b ) Write some harmful effects of ozone layer depletion. (Marks 05)
Question No: 34

a ) Describe steps to improve balance of payments of Pakistan. (Marks 05)

b ) Analyze the importance of Pakistan's textile industry and suggest three ways to enhance its growth. (Marks 05)

Question No: 35

a ) Write a note on the importance of seaports in Pakistan. (Marks 05)

b ) Explain transport system in Pakistan.(Marks 05)
Question No: 36

a ) Write effects of the Cold War on Pakistan. (Marks 05)

b ) Highlight the Characteristics of Ayub Khan's Regime. (Marks 05)
Question No: 37

a ) Write a note on the Second Round Table conference.(Marks 06)

b ) Write the important events of the establishment of Pakistan.(Marks 06)






